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Note : Attempt all questions.
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Graph paper is required.
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General Instruction -

Use of calculator isnot permitted.
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(H)Q@\\?&mmﬁhfsqﬁenm(
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Q\Q‘b'Questicfn No. 1 has three parts. In P
questions, in Part (B) Match the follo

in.the blanks are given. Eachy questi

arifed ¥ |
Question Nos. 2 to 6 are very

Each question carries 2 marks.

H)ﬁﬁaa@n‘rﬁaﬁgﬁfﬁq

art (A) Multiple chojce
wing and in Part (C) Fill

On carries | mark.

T | TE v w9 siw

short answer type questions,

(iv) mm7@10ﬂaﬁﬂﬂﬁﬂﬂm%|mmmsaﬁ

arsifed ¥ 1

Question Nos. 7 to 10 are very short answer type questions

Each question carries 3 marks,
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(2]
(v) W S 11 Y 14 T ST TR € | Wk 9 # 3R
forshed ¥ | Wl e W 4 i eTafed © |
Question Nos. 11 to 14 are short answer type questions. Each
question has an internal choice. Each question carries 4 marks.
(vi) W ShHI® 15 TH 16 TSI T4 § | Teieh 9eA o ofiafier fasmeq
% 1 T W W 5 3% STeifed § )
Question Nos. 15 and 16 are short answer type questions. Each
question has an internal choice. Each question carries 5 marks.
(vil) W A% 17 To 18 ST W94 § | Wlish Wi § s7iafier fasrey
T 1 ® T W 6 IiF Efed ¥ |
Question Nos. 17 and 18 are long answer type questions. Each

question has an internal choice. Each question carries 6 marks

W1 (WS- W ey e e - [1%5=5]

(Part-A) Choose and write the correctoption :

o 7

(i) tan (90° - 60°) =

(7 0

(n L
V3

| ﬁ@u _—
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(i1

[3]

The value of tan (90° - 60°) will be :
@ 3

%) |

(¢ 0

(d)

-

WP{x)=x2—51=+6%WWﬁmwmz

(37) -5

(@) -8
5

Q
(@) 5 g@
¥
Q\Q‘c
(3) 6 @\%

The sum of the zeroes of the polynomial P(x) = x

(@) -5

5y + 6 will be :
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(4]

(iif) ﬁmmwmmwmwﬁ@ﬁmm%?

(iv)

(&) T

(0 Q

(%) oA

(7) w4 HE T

How many tangents can be drawn at any particular point on the circle?
(a) one

(b) two

(c) three

(d) None of these

frm & @ FA-T1 T, T T TR 2

(37) x+-:;=2
() x2+7%@§0
S
() Q%—4
S
3

X x 5

~ . . . . . :?
Which of the following equations is not a quadratic equation:

(@) x+e=2
X

(b) x2+7\/;+9:(}

() x*-9=4

(d)' x2+x=

0| &5

___.--""--

A+
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[5]

=4
w%mw%aﬁ*maﬂwmﬁ atfes &, @ SEH
© mm%:mzrafam%ﬁfm%:

(37) 5%
(@) 20%
(@) 10%

() 30%

i 1S > Rs. ten lakh,
A person whos¢ annual taxable income 13 more than

will have to pay tax along with cess
(@) 5%

(b) 20%

() 10%

(d) 30%

wE-1 (ure-a) 3faq T i e
(Part-B) Match the following :
(A) Q
(1) WT@TE_erx:-fr@\%HﬁW?Pﬁ (a) 1
Slope of line in @’straighl line
2y+tx=4 v-,$ e
(i) R 3 T Pyl 36 AEa
TR, A e e ¥ (b) 9
If areas of two similar triangles are
equal, then-those triangles are
(iif) & e 10 w1 THIR AT F e -1
The arithmetic mean of 8 and 10 will be 2
(iv) afg 0 =457, A tan20 F A AW (d) 12
If 0 = 45°, then the value of tan20 will be
(v) Tl o= Y yedta faepuil 1 HOA BIA & (¢)  FAMEH/Congruent

The number of surface diagonals of a
cube is

N
1§

——
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(6]
(@e-) fra Tl A9 HTC :

(Part-C) Fill in the blanks :
() W wEAsd % 9 wew HE Bt €

The square of even numbers is always number.

[IXS“S]

(i) 1236 Hghamma BT

The third proportional of 12 and 6 will be

—

(idl) e o, A 90 R alielt T el Yasit a6 oreadyt Gy

Ihe lengths of tangents drawn from an externg] poinl of circle
are

_———___.

(iv) ﬁqnﬁmmﬁwﬁwﬁ%,?ﬁ FEdE |

The e . .
amount on which the Interest js calculated s called

) “ﬁmﬁﬁ%ﬁﬁﬁ?ﬁ(&@)ﬁﬂ%ﬁﬁ A& 9 ey gy

If th -ord; Nt i
€ co ordm@ any point is (8, 0). then
(as.

on me\@\ this point wil] exist
NS

B
—_—

N
€0s265° + @stﬂ
EaREEE Fifsm
Find th & | -
© Value of ¢pg2g50 0§29 50
EIE (I 4 S) !
45015 @A Fifew
JI-{x+5):45:: d xi?ﬂ'*:l'l—*fiﬂﬁ | [2}

: 3, then find the value of x.
g (g, 9)am (5.3

Aling Passe

)ﬁﬁWW%,ﬁmmaﬁWmmﬁml 2]

S through Points (7,

9) and (5, 3), then find the slope of

e qua\fﬁ. xt x = 2

——-"""...#
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ayi-6

wy1-10

a=-11

[7]
[2]

ey it @ e ST FHAC ¢

35, 31, 33, 28, 30, 32 34

Find the median of the following data :

33, 28, 30, 32, 34

x+6=0 &5 7geif 1 T 1 e

atic equation 2—5x+6=0.

35, 31,
[3]

a1 i X% — 5

Find the nature of roots of the quadr

mﬁﬁuﬁzkmﬁﬁwwh%,aﬁk@"qﬂﬁ%'

Prove that 2k + 7 is an odd integer, where & is an integcr.
sﬁ.mﬁaﬁﬁmwmwmﬂmi [3]

Find the surface area of a hemisphere of diameter 8 em.

afg (x - ]),'ﬂE‘q?:P(x)=A;r3—5x+3$r§UH'@'U€%, A k&1 AE T w3

—é} is a factor of the polynomial P(x) = = - 5x + 3.

Find the value of & if (x
N
14 G, mm@@w%m@wmgsaﬁﬂm ¥ | Sor &1 IFAA

N
F1a HifsT ! @@Q

Area of curved surface of ¢

[4]
ylinder, whose height is 14 cm. is 88 square
cm. Find the volume of the cylinder.

3rerdr

OR
Wﬁ%ﬁﬁ@%{ﬁgﬁiﬁﬂ%ﬁ?hﬂﬁﬁ. ¥ U I YR FH HAH
14, ), 79 39 Wi F1 HAE T4 HISC

If the curved surface area of a cone is 77m square ¢m and diameter of its

base is 14 ¢m, then find the height of the cone.

e
L w P.T.0.
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Data of weight

[8]

ﬁﬁfﬁﬁ(ﬁmﬁ)ﬁw%aﬁ%ﬁum

[—;(}—6(}

60-70

70-80

6

el

| is given below. Find the mean of the data -

[ Weight in kg 30-40 | 40-50 | 50-60 | 60-70 | 70-80
Number of students 29 5 ; l
Srgar
OR

of young and old groups of children (students) of a senior

@_wmﬁw%ﬁa@@ﬂaﬁmmm?ﬁﬁﬁﬁ el
e & il dfer § ST T & 1 9 SAHST B vgers 9 Ffr

[4]

faahel =t v

0-50

50-100

[00-1350

150-200

200-250

! 250-300

1

Haarat &1 @

4

2

16

| 2

e

-
]

7
-

Wickets taken by many %@vlcrs ifninfernational one-day

cricket matches

L \
are given in the tabic&%ﬁhd the mode of the data -
Nos. of Wi T 5 5
0s oleckelss\;& 0-50-1"30-100 | 100-150 | 150-200 | 200-230 250-300
Nos. of Bowlers> | 4 5 16 12 ;
2 3 >

?@Wﬁuﬁmﬁgﬁﬁww%mwawﬁﬁfm_
W%ﬁmmmawwmmmmmwﬁgwaﬁ
T & 3190 3 farvnfora e 3

Prove that if we draw a |

In¢ which is parallel to any one side of a triangle

and interge i
. Cts the other two sides at different points, then this line divides
e dec
S€ WO sides i the same ratjo

ferar

(4]


http://studentsuvidha.com/
http://studentsuvidha.com/

ﬂﬁﬂﬂ

Wi-15

If PAB is a secant to a circle which i
Intersects the ¢jrej
©atd and B, and p1

is a tangent to the circle, then prove that PA x PR = pp2

OR

x%ﬁfu:fm‘féa’l‘m 2 ST
' kamﬁﬁmx@ﬁ'{ 2% [

Fife | xWW%‘-‘?{mﬁlT{UﬁEﬁ@Tﬁ'%l Pk

Find the value of 52 for different valyes of

and x2 alues of
d x<. The values of « are integer numbers

OR

oty :
T4 2013-2014 H U WEhE FHER 9 gt afder i 4,10,000 &, #ft|

¥ ?;;4,000 ?-.Fﬁaqﬁmqﬁﬁﬁraﬁa;mﬁ, 4,000 %. WA W
ﬁmﬁ@zs,omamﬂ@'ﬂmwaﬂaﬁﬁmﬁw%mﬁmﬁ

30 2 9 s <o T, 2, 2 s o e

[4]
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[10]

gt Y W FeEEr ®
®. HT AT dray 2ATERT i
L. 12,00,000 % 7= g AR XL
2. 12,00,001% 9§ 5,00,000%. @& 10%
3. 15,00,001 % & 10,00,000%. 9% 20%

T AT, <3 a1 3% foen 3ot o &)

The income of a government employee in financial year 2013-2014 was
Rs. 4,10,000. She deposited Rs. 24,000 as yearly premium on life insurance
policy, Rs. 4,000 every month in General Provident Fund and she also
purchased a national savings certificate worth Rs. 25 ,000. If a maximum
of Rs. one lakh can be invested in any type of sav ing to qualify for tax
rebate, then calculate the payable tax.

The rates of tax are as follows :

S. No. Tax Limits Rate of Tax
Up to Rs. 2,00.000 NIL
2. Rs. 2,00,001 to Rs. 5.00,000 10%
3. Rs. 5,00,001 to-Rs. 10.00.000 20%
«.{Q

In addition, a 3“®umnnn ¢ess has to be paid over the income tax.

U¥T-16 AABC%@@WWW AB=8THL, BC = 5¥W. 3k /4BC
_60°%|W%W‘ﬂml [5"
Construct a cireumcircle of AABC. where AB = 8 c, BC = 5 ¢m and
LABC = 60°./Write the steps of construction.

Hygar
OR
T& APQR &t T hifaw, fawd QR = 6 /9., PO =5 8. 3R ZPOR = 60°
. 2
2199 @ T W AABC F o wifere, foraw AB=2PQ B
Construct a APQR in which QR = 6 cm. PO = 5 cm and ZPQR = 60°,
2
Also construct a A4ABC in which AB= E PO .
S-2A+
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[11]

17 amm@mmww m%mmaﬂﬁaﬁm%q,ﬁ%
W%ammﬁ;aﬁﬁaﬂm3% @ 9% TEN F St | i61

Seven times of a two- _digit number is equal to 4 times of the number fonned
The sum of the two digits is 3. Find the number.

by reversing the digits.
rerar

OR
b, ¢ Foet TR A % HA: p, g3 ¥R 44 w3 €, 0 fag wifem

a(q -r)t b(r‘——p) tc(p — q) 0
ion are a, b, ¢ respectively,

If, p'*, ¢ and '/ terms of an arithmetic progression

then prove that
alg—r)+ b(r —p)+ c(p— q) = 0

cosB cos0 P (6]

R foarg THEHT 6 T +
cosecB+1.. cosecB-1

qvi-18

cos© -

: , : cosH
Solve the trigonometric equation :
cosecB+1 cosect—1

R
Q;\%% arerar
N OR
qaq#rsﬁug%wﬂaﬁ:maamm%l o % I W § TS oTed UF
FR H1 30° % GTHA HI T TG § | FR 997 & € H 3R THTHH 9561 §
ST & 1 30 Y. W o 912 HI T SFGTHA HI0 60° B A1 S, AN VAT FT S9
I HIfAT

A straight road goes straight up till the base of the building. A man on
the top of the building sees a car at 30° angle of dercssio;. The car is
moving towards the building at a uniform speed. After the car has covered
a distance of 30 meters, the angle of depression becomes 60°. Then find

the height of the building.

.....................
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